Class Sub caom S

10 | Mathematics | Prelim 16.01.2019 80 - 2% hrs. ﬁ .

General Instructions: X
1, Attempt oll questions from ;_gl:tlon-A. - | |
npt any stlons from section : ;
i 2;ftxf;:;,ﬁ:cjszglgeg:gi&worr;( {nust be cIearly shown and must be done oﬂ the-‘am w4
sheetasthe rest of the answer. e
4.” Omlisslon ofassent!alworkmg will result in loss of marks.- - ,; R el
5. 'Mothematicol tables ore prov[qed R

[

;: S SECTIONA (40 Mark;) 4 . it \\)/
. § Attempt all questions from this section.
= Question1 ) .
& A) Solve the following equation and glve the answer correct to two decimalgiu:J
g : ¥ x(2=3)+ 1=0

B) Find the & tenn from the end oftne AP 15, 14, ..... (... @ ]
C) The following data shows the hefght of certaln number q(@ts in 3 class: | F,4 1 :

Helghtfmcms} 168 | 159 | 160 155,; A 67 . | 165

2,

No. of students 7 16 |7 [\ sdN0 [ 14] 24
. P

- Find the medlan, Jnler-quartlle range anaﬁ‘?{&é\ﬂhe above'data..

question? \1‘?\ .
A) Mr. Sunll opened 3 cu Xosn "account In a bank paying 12% Interest p a. 1 3]
At the end of two ye sived Rs, 6750 Calcutate the monthly deposi.t. h

\%& 4]zmdcT--[3 lLﬁndAC 38. - 3]

Lﬁaxe area of a solid sphere Is 2826: em? itls melt»d and'recast in iom 18]
_ ofradms 15 cm apd helght & em. find the following: ’
saf the sphere {fakew = 3.14)

B) lf_A

C) Th

W Th# npmber of copes fprmed
A

Question 3
: T - D i i
actorfse 6x3f 11x2 = 3;-—2 completely,. - . ) 13]

'{. ° .. ) - . % N - - ..
B) In AABG, £ABC = 90° and BD LAC. Prove A ABD~ABCD. [/, : o
IF AB = >:7 cm BD =3.8cm and CD = 5:4 cm-hnd BG B . €.\13) m‘

. c; Glven polnts A {7, -3) andB(l 9) ﬂndthefollowing- EERR [4] -

(o The slope of AB,
% ll) Equa!lon of CD; the perpendlcular blsector of AB

m) The value of p, if (-2, p) lles on CD. )‘1 3 : “‘ B o -
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TITTIAAN

1 N0 r g 2 LN =D & 5

6) Intheadjoining figure O Is the center of the clrcle,
STlsatangent lo the clrcle s D, 2AD0 = 30°
and £¢BDS = 66°. FInd ¢BAD, <DCD and 2ADT,

@rove the following trigonometric Identity:

7 .
/\7 (cos @ — cosec0)? + (sind - sec 9)= (1- suc()cosup‘l.")’ )
SECTION-D ‘:-\
(Attempt any four complete questlons from this sactlon) "(‘ “u‘;{’
A ‘:}u’ '
Questlon S . ¥,
| § }\
A) How many terms of the A.P 33,37, 41, -~ -~ must be taken to get a suifl f>,1 (3]
v R
B) ]f;\:[z _3]ﬂndaandbso'thatA‘=l .\\,}?\ . [3]
~ a b .."Q.\'F.}
H ) "‘.v.’ A .
. . ‘ o x*+9 .@”&}"”"’v g ‘
S C) Using propertles of proportlon solve for x if ——— 7 =5 " (4]
= ' 6x* 3 R, ‘
== \. }
SE :
5 fgg Questlon &
E -
= § £) A) The perdmeter of a rectangular f‘el gd Its area is 640 m2. Assume
= thelength of the rectangle asx m, write‘re n terms ofx, frame a quadratic
v = equation Inx and ﬁnd the dlmenslo goftfafleld. [4]

—==:p) The tab}e below siiows: the nﬁ@%ta‘med a group df 200 students Inan examlnatlon

Mamsle.ssthan P, § 130 |40 50 60 70' 80
No. OFSM s 10 30 |60 105 [142 |268- |200

sheet Use a scale of 2cm = 10 marks on x—axis and [6]
- axis and est!mate the followlng values: : .

[

Draw an ogive on‘a
2 an= 20

lan ar )
'gﬁ)c:quamle o e
ni e number of students gettlng more than 72 marks
:v) d the numbemf students scor!ng less than 40%.

7}
Question 7

I.N\J

) P th p 2c0s24-1 o
) Prove the ollowingtrlgonometric Identity: cotd — —tand = —— — - [3])
sinA cosA

B} A lire meets X - axlsat‘ the polnt Aand Y- axls at the polnt B. ApointP (- 3,4 )
d:vldesAB ln the ratlo 2 3 Flnd the coordinates of A and B, o ] - {3]

. C)Use graph paper for thls questlon. PlotA(5,4)andB(3,2). Reﬂect pomts A and B

-in x—axls to get A’ and B’ respectively.
i) write the coordinate of A’ and ',
il) CIs the Image of B and C' Is the Image of B'when they are reﬂected In the line A’

11} Give the geometrlcal name of the fi igure BACC'A'B' and find its area; ' [4)
: I o T
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‘ els
A) A company declares a dividend of 8% on Rs 100 shares Atul buys 720 shares and 6
- 10% income on his lnvestment Fund the moneanVesled by Atul and his an

(1}
nual income:
B) Cards bearing odd: numbers 01 03, 05 07,-.-.-.23 23,25 are keptin 336 lchis
o Acardls drawn at random from the bag Flnd the '\robablhty of getting a card W
1) Anumber dlwsib eby3ors : )
. ) Aperfect square number S : el .[31
B8 »-‘.Iii) . Thesumof thelrdloils Is more thanS \’ K

B -

Acircle with
Ey C) AABCIs 3 right ang]ed lrlangle in whlch LA= 90' AC=12c¢m, BC= fI[?\: [i';scrlbed drcle. [ ]
' centre O has been lnscrlbed lnslde the trlansle Calculate the radius 0 . ;

‘ ”QuestlonS

e e,
i A) Without solving the quadrauc equatlon xz +2(m-Dx+(m+ 5)= '@
“value of m for which the glven equatlon has real and equal roots.

: ops to
3 B) Acylindrical roller'of length 1.2m has aradius 35 cm. If |t takes 5007 g.b‘-e«?m . [‘3} !
'tf: levela play ground de\ermune the total cost of levellng it at the rate

]
: -2
9
2

3 Q) ) Constmct 2 AABC with BC= 6 cm, AB 5.5¢cmand ZAB

"@
i) Construct a circle circumscribing DABC- %

and BC.
iil) Locate a point P on the circumference of the clrcle quidistant from AB
Iv) Find the Measure of the I

4
Ine segmentPC : ( | ]
d\ Question 10 / Q§\ ‘ ' _
A) Find thevalue ofmforwh!ch thefollmﬂﬁ%' (m,—l), 8(3 -8 and [3 ]
c(s, 6)are collinear, Also find the eq§ of the line," . o

B) Inthe ad}olnlng clrcle with ce,

ZA CDand
ZABC= 52" Find LBAC LACD%E%&

c)Amanismtans'

_ level gromld ata polntA and observes the to pCofa
vertical. Pole BCa '&Q g!‘}: of elevation x° such thattanx = =, lf the helght of the pole’

U 4]
Lnueﬂ 1\«, | -

K‘%‘m ofthethree termsof aG.P is-—andthelr product s 1.
Fin the flrst term and the common ratlo

(3]

B) 1) - In the ad]olning fgure, prove A TPS '~ATRO..
li)" Find SPif TP=18 cm, QR =4 cm and TR=6¢m,
M) Find the area of quadrllateral PQRS lf

B tr e area ofA TPS 27 em,

O
C) Ca.culate the mean of the following distribmlon / step — devlal!on method |
Class Interval [ 11-20 |21-30 |31-40'‘|41-50
Varlate 14 17 29

51-60 | 61-70

(4]
71-80
{32 |8 |18

23
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